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) Discuss the development of Actuaria] profession standards’ organisations that aided in
the formative Stages of the profession. (4 marks)

b) Outline the management issues that actuaries warking in a multidisciplinary team
endeavour 10 answer, =}« €u mak, Ineorald ¢
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¢) Define the following terms he T e sfued lams ""’;."’h Ot el““*'("‘-" Ca
i.  Simple discount
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. Insurunce

(1 mark)
> iv. Liability insurance - (1 mark)
Tie v.  Endowment insurance . (1 mark)
, \ ' d) Consider two overlapping 1ne pl‘rimis. Puriod one has !ength k tim? u.nits and peniod
- \ two has length m time units. If the eflective period one interest rate is i, express the
equivalent eflective period two interest in terms of i, k and we. (3 marks)
€) Stute the principles of consistency as used in theory of interest, (2 marks)
]')f ;-‘md the accumuluted value on 4* July 2016 of Ksh 12,987 invested on 6* January
- 2016, assuming an cffoctive rate of interest of 29% pa. (3 marks)
‘ed the construction of a life wable (2 marks)

g) Discuss the steps involy
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, . Give 3 maximum
h) Construct a hypothetical life table starting with a radix on 100,000 (3 marks)
of five ages,
. ional reinsurance treatics.
") Discuss the difference between proportional and nonproportiona (3 marks)
Question two T

a) Di§cuss the role of the actuary in " (4marks)
i Insurance (4 marks)
I.  Insurance brokerage firm (6 marks)

b) Outline the princi : i p
principles of insurable risks . . tlining the
) Discuss the operationalisation of the quota share reinsurance treaties m;6 aks)
advantages and disadvantages of the same.

Question three ) )
a) With the help of a well labelled diagram, discuss the stages that are involv ?]ilmmmc' 5
actuarial control cycle : arks
b) Consider the problem of premium rating of a life insurance product. Clearly describe

what will be involved in each stage of the control cycle. ) (6_ marks)
¢) Outline the considerations that come into play for insurance companies wanting to set
retentions. . (3 marks)
Question four ‘
a) Discuss the four main types of retirement plans. (4 marks)
b) Describe, while giving examples, the following benefit plans:
i.  Defined benefit plans (4 marks)
ii.  Defined contribution plans - (4 marks) -
iii.  Hybrid plans - (4 marks) -
c) Discuss the allocation of risks between the employee and the employer in retirement
benefits (4 marks)



